CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 HEIDIWAY LANE SANITARY SEWER EXTENSION - SS01-1061 1/14/05

ORIGINAL CONTRACT AMOUNT: \$84,459.00 CONTRACTOR: MAINLINE CONTRACTING, INC.

LINE ITEM	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	MOBILIZATION	LS	1.00	\$3,000.00	\$3,000.00		\$0.00	
2	STANDARD SEWER MANHOLES 48" DIA	EA	6.00	\$3,000.00	\$18,000.00		\$0.00	
3	EXTRA MANHOLE DEPTH	VF	20.00	\$300.00	\$6,000.00		\$0.00	
4	8" PVC SEWER MAIN (0'-6')	LF	65.00	\$32.00	\$2,080.00		\$0.00	
5	8" PVC SEWER MAIN (6'-8')	LF	219.00	\$40.00	\$8,760.00		\$0.00	
6	8" PVC SEWER MAIN (8'-10')	LF	233.00	\$45.00	\$10,485.00		\$0.00	
7	8" PVC SEWER MAIN (10'-12')	LF	46.00	\$55.00	\$2,530.00		\$0.00	
8	8" PVC SEWER MAIN (12'-14')	LF	10.00	\$70.00	\$700.00		\$0.00	
9	8" PVC TERMINATION RISER	EA	0.00	\$0.00	\$0.00		\$0.00	
10	SEWER SERVICE CONNECTION	EA	6.00	\$600.00	\$3,600.00		\$0.00	
11	4" PVC SEWER SERVICE LINE	LF	43.00	\$22.00	\$946.00		\$0.00	
12	ROCK EXCAVATION (TRENCH)	CY	100.00	\$60.00	\$6,000.00		\$0.00	
13	TYPE II FOUNDATION MATERIAL	Т	50.00	\$12.00	\$600.00		\$0.00	
14	AASHTO T-180 SOIL TESTS	EA	2.00	\$150.00	\$300.00		\$0.00	
15	8" PCC PAVEMENT - NONREINFORCED	SY	11.00	\$90.00	\$990.00		\$0.00	
16	CONCRETE CURB & GUTTER TYPE B68	LF	5.00	\$35.00	\$175.00		\$0.00	
17	4" CONCRETE SIDEWALK	SF	700.00	\$5.00	\$3,500.00		\$0.00	
18	SEEDING, FERTILIZING, MULCHING	SY	1,600.00	\$0.90	\$1,440.00		\$0.00	
19	TRANSPLANT TREE W/ 72" SPADE	EA	5.00	\$350.00	\$1,750.00		\$0.00	
20	EROSION CONTROL, SILT FENCE	LF	190.00	\$4.50	\$855.00		\$0.00	
21	TRAFFIC CONTROL	LS	1.00	\$4,700.00	\$4,700.00		\$0.00	

22	CONSTRUCTION STAKING	LS	1.00	\$1,000.00	\$1,000.00		\$0.00	PW020105-0
23	INCIDENTAL WORK	LS	1.00	\$5,000.00	\$5,000.00		\$0.00	
24	AGGREGATE BASE COURSE	Т	50.00	\$25.00	\$1,250.00		\$0.00	
25	CONCRETE SIDEWALK, EXPOSED AGGREGATE	SF	114.00	\$7.00	\$798.00		\$0.00	
	CHANGE ORDER #1							
26	6" CONCRETE APPROACH	SY		\$8.00	\$0.00	35.8	\$286.40	\$286.40
27					\$0.00		\$0.00	
28					\$0.00		\$0.00	
29					\$0.00		\$0.00	
	TOTAL				\$84,459.00		\$286.40	\$286.40

: E:	PW020\$P0\$- \$286.40 \$0.00 \$0.00
E:	· ·
	\$0.00
DATE:	
DATE:	
DATE:	
DATE:	
	DATE: DATE:

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 HEIDIWAY LANE SANITARY SEWER EXTENSION - SS01-1061 1/14/05

ORIGINAL CONTRACT AMOUNT: \$84,459.00 CONTRACTOR: MAINLINE CONTRACTING, INC.

LINE		
ITEM	DESCRIPTION	REASON FOR CHANGE
26	6" CONCRETE APPROACH	TRENCHING OPERATIONS RESULTING IN DRIVEWAY REPAIR

PREPARED BY: Dion Lowe DATE: 1/14/05